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DITIP D1NIN 29PN YY 1PV DDIAN ,MNPN NNON GONI N YAIPa 9NN @
A2XNTI2 NYXDIIIND NPPONNND DLV NIAON DNPA

M TR0N Dy NAYN Y00 Nnw) e

0”002 DMHYN DNaNn 1

oY IPINYA AWM S NP2 ND N¥IAP NN (semigroup) D¥NV? DN3N .1.1 NN
0PI a, b, c € S 935 MMY5 .(associativity ,NPDVINON) NPHDP PN S
{axb)xc=ax(bxc)

.a % b =0 noyan oy X n¥ap ,odm M 0o L, Z (1.2 Dt

JUSIDP NPR MONN NOWOY 290 ,NNNNY 1NN NPN (Z, —) NN 1.3 NN
(B5b—=2)—1#5—-(2—-1) 5>

a € 5 999 DN DM MR KIP) € € S AN .NNNNY NMAN (S, *) 2NN 1.4 AN
TRMD INIPI DTN ADR OPP NIV ANIND NNIAN a*xe = exa = a DPPNN
)T W monoid)

X NAap Oy NespNg 0TV Oyn N MNIvn ,Z 1.5 9nnt
LR NN M-2 TN 920N 0D MINAD O PR M o 1.6 YWD

NN 92 GOIN MY MYV PPN NXap P(X) snm pnwod nxap X onn 1.7 9nnt
NP 1 X NN DTN AR Y PR X0 (P(X),N) X (X Y mxiapn
a? = a 0PN a YN Y5 M TRIMNA 2D 25 Wl [ Twnnd) 2(P(X),U) May

RM (M, %, e) o (1.8 N1
al'=bmnmpna ba =ab=e-v 70bE M X D”P DX TOD NIP TN
.a OV DO NI

D290 a, b 0) 22 WIN ,;TRMNA TN aba € M DX (Y2t ¥ ON) 1.9 99990
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MDD .aba DY 9NN ¢ Y NN
abac = caba = e

OPPNM TON a VIV .a OV NN MINN bac-) ,a DV ORIV NN NN cab 12O
D) O»PNN 1IY .cab = bac

(aca)b = a(cab) = a(bac) = e = (cab)a = (bac)a = b(aca)
b OV MM YONRNY DN aca D PPONY 1IN
2ONDVN AN IPRY PN TON TN 12 WY TR D”P OND L1.10 990

X-n Mmpnynn Nap Sy 5onoy .¥ap X XN O TR M) D NN
DN RN M NN DY onva LXK = {f 1 X — X} namonn msyd
N NPNYN NN 3 DTN

DNPNN) DY NPEPNAN DN PPN 029NN .YNNN NPXPNAN DN SINNDYN 039NN
290 Nrno X NN N2 OX NP DN L(NTTA NPPVNRNIN

NIV TPEPNAN LYNN NPRY DY 8PN NN Op X = N Dvnd npry oN
9aN ,u(n) = n+ 1 5w ,Pn 209N v it 8pNaY d(n) = max(l,n — 1) N
IRNDVND TN NY PN

mn 95 Yv P (X) n¥apn (X, ) Trmm 935 00 o L(1nann) 1.11 99n
TPYALN 995N NOWAD DN DRIND NPT X DY M KON Mapn

AeB={a-blac Abe B}
(P.(X), ®)-1 D900 DINN DN M INSD)

DN NN € IWND) {e} NN 1PN NN NINTY NP PR P (X) nsapn wono
NP NIMYON D TAY P LAY 20N NITHIN e Nowan (X DV TN
Ae} i (P(X), e)-2 nron Ar .X -1 noyen Yv nrvpn Yy ovanna

M) X-2 Pan a My {a} NN MNAPN 1N TRINNI D9NN DIDNN
935¢ 10 B € P.(X) mo»p 129 pan A € P(X) » o o ({a™t} nn
DTN NIY MNSY 0»P NINK .|B| =1 RN ab=co”pma € A bE B
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NANYA NN TPIRDA AV PTHND ©IITN NNN TPMD NINAP NAY) .1.13 DN
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*|alb

alalb
blbla

oV 09NN NN O DTN NN @ ,NYDONNON ,MPID NHYPNNY MNID OP N
RIANY
.(201D) 2 970N DTN NMIAND I ,NVYND

NN DTV D2) 995 oy NMP I NN onva man Ny Z,Q, R, C .1.14 hnnt
L0995 NI NN NNAN

nZ ={0,4n,£2n, ... }-215¥ MO NN PO 2YIV 190N 1 7Y .1.15 HNNT
N (nZ,4+) nownn n 930 AZ = {...,—12,-8,—-4,0,4,8,12,...} Svnd
.NMan

nla—b DR N AN DNYPY DN a,b € Z >3 NI 220 1901 n o7 .1.16 N1
a” PNt NIPN a = b (mod n) IRt PO .a = b+ kn-v 10 k € Z 07p 9>
Jn oymn b-5 Hipv

MIRNN VY MOPYN MPONNY MDPY DN NN 1 INTID MPPY 117 2HYV
ON 92190 .20 DTN 72 TN NN DD .n-2 790N DY NIPIDNN NPINYD
a+c=b+d (mod n) on ac=bd (mod n) N ,a=b,c=d (mod n)

Ly = YOO 9290V N TN MPPYN MPONN QOIX Dy YOND) .1.18 NNt
npoNn NX oo omnyad Z, = {[0], [1], (2], [3]} dwnd Z/nZ = {[a] |a € Z}
[a]+[b] = [a + b] M2 .a VIVA PN T2 IWRD DTPYN ;G WD [a] MPPYN
M2PYN MPoNN QDIX DY NOWION TPINYI N2 NIN + 120N INNY GPIND TUND
PN (NINKR MPPY NPONN DV 1N NIN b-1 DNXR MPPY NPONN DV 1N NI a)
M>PYN NPONN Sy ©OONDN PINKRIY) DIFDN DY NDXIN NNN NOWI 1t PR
AN a + b Nav

M»PYn MPoNnY oYXy N2 YA NNIAN NN (Z,, +) D MRID IWAN
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MNDNN NNY HY NPHARM NPIVPAN MY NPHIARM NN NYVP ([a] 935
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DIDN M a,b € M vy PR M o (02900 DIDNN NNAN) 1.19 AN
NID DMNN IDNRD )ON LTRINNI AN NN a - b DY N, 9N 0N a,b DN
NI NP AN TRIINT 29NN DIDRA 93 GON DY (a-b) =071 a™!
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25 ON’2 NNIAN INNN TRINNI NN DIDNN GOIRY NN TPTD NIPON
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WY 9NN NNIAND PRI NN
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939 Upy-21 DIDNRND NN PPN ,ANINND NIYND 1T .1.23 TWYv
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NIPI VNN (TN IN) VIR N3N NN G 2D NN, TPOANR NN N9YaM NNan

.(Niels Henrik Abel) Sax 0 992 5w mvw Sy

1> 1 My mYar IR (GL,(F),-) nmann .nT1v Fon 2.2 nnnt

NN G N 2?2 =1 oopon 2 € G 955 o N .aMan G onn L2.3 990
JPOaN NMan

199 (ab)® = a? = 1> =153 a,b € G 995 DPPIN PMIN D DA
abab = (ab)* =1=1-1=a%-b* = aabb

22PN Lb DY MNP TN @ DY D92 DNNY T8N D0 MYV NN 929D)
0 JPOAN NMan G99 2R A D20 o»pnn Mt ba = ab

mMan nn 3

NN O G OV YN XA H C G nxap nn .nman G oonn L3.1 09710
DN0N (G- TPAVINN N2IYAD DN PN TN TN J9IND) 1YY NMIND ONa NNAN
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. € H -IN- NP RO Napn~nn e
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1 a b 1 a bV 1 a+d b+V+ad
PN | 01 ¢ 01 | =10 1 c+dc € H e
0 0 1 0 0 1 0 0 1

D95 Mo v

MNXIND O) TN 1P2901N RO M DAN ,NVIPNIVTN 29D TON WY NMINID IVON @
LOMON .NNNYa H-2 NINNN)Y 109NN NNIvNNY

-1

1 a b 1 —a ac—25b
01 ¢ =1 0 1 —c cH
0 0 1 0 0 1

2923190 1NN DRNP () PO INE 1NN
SL,(F) < GL,(F) .3.3 none

(@) = AN Y PINNN NMANTNN NS WK TN ¢ € G MY 3.4 Nt
PA)Ap) .{ak ‘ ke Z} <G

4ecZ e
(4) ={4k |k € Z} = 4AZ

101
ra = (85?) € GL3(R) o

102 1 0 n
(a) =Xa"=Taa*=|010],....,a"=|010 |,
00 1 00 1
10 —1 1 0 —2
at=101 0 J,a?=[01 0 |, ..,a™,
00 1 00 1
10 k
= 010 ]||kez
001

D901 N NN XA 4

Tk € Z ©”p OR b DR PIND @ D INN) .ONOY OI90N a,b v 4.1 NN
.—5[10 SvnY .a|b ypon ka = b-v

DN ¢, 7 DY) d £ 0,1 € Z 997 (OTOPIN NPIZN IN,PIDNN VIYN) 4.2 VOVY
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mMNva NPNAN .d-2 n IR DPONN AWRD NP " RN Yo LavNN
(INY) remainder-) (M) quotient t”yon NYHHN VIVYHNI OIVNIN

greatest ,10"00) Y3VON MVYDN PINON 1, M DMIOYW OI9DN NIV 1N 4.3 V1IN
901N NYNY TN DNYY (common divisor

ged(n,m) = max{d € N|d|n A d|m}

(n,m) =1 OR DN n,m *» MN .(6,10) = 2 Svnd .(n,m) P IV WYY
(2,5) =1 Sond

-1 a 9V NP PN 9 PO d N L d|b B d|a DX 4.4 WD

(n,m) = (m,r) IR ,n =qgm+7r DX .4.5 WYV

D92 NN .d|m BN d|n 2 ©YTY DN .d = (m, ) 229" ,d = (n,m) IV .DNW
A < (myr) 9op oM Jdlr =n — gm 99 n,m OV IRYY MPND T NN PNID

SV INYY NPY NI 1D (m,r)|n P9 ,(m,r)|m o3 (m,r)|r NATN 295 nyd
D MOVP YO0 T (m,r) < d R (m,r)n O (m,r)|m D WP DN am, T
O A= (m,r)

YOI MIN VIDW NP3 Y'Y IRYDT? "YWV L(DTOPIN DNINON) 4.6 VOV
(ny,m) =n "R ;m=00R .0 <m < n M7 I DTIPIR DMK R Y
W3 .(n,m) = (m,r) Y PYON 0 < 7 < m IR 1= gm + 7 33N NINN

(ASYRT? 3PN DIMWIRD D7

DTOPIN DPPINON NNYA 47-) 53 DY n"nnn NN 2VN) 4.7 T

(53,47) = [53 = 1 - 47 + 6]
(47,6) = [47T =76+ 5]
(6,5) =1

O OPNRY 990D M1AY NIO ANNT

(224, 63) = [224 = 3 - 63 + 35]
(63,35) = [63 = 1 - 35 + 28]
(35,28) = [35 = 1 - 28 + 7]

(28,7) = [28—4 7+ 0]
0) =

(7,

Y @, b DWW BIODY 907 DOIPRY L(IYIN MINPY NPED NHNN 1ON) 4.8 VoW
(a,b) = min {au + bv € N|u,v € Z}

(a,b) = sa+tb-w 3> s,t € Z DYHMY 0103
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2NN DTIPIR DIMNIRI YNNI

(234,61) = [234=3-61+51 = 51 = 234 — 3 - 61]
(61,51) = [s1=151410 = 10 =61 — 1-51 = 61 — 1 - (234 —3-61) = —1-234 + 4 - 61]
(51,10) = [s1=51041=> 1 =51 —5-10 =51 — 5- (—1- 234+ 4 - 61) = 6 - 234 — 23 - 61]
(10,1) = 1

(234,61) =1=06-234—23-61 o9
.ale 22 AN albe o0 (a,b) = 1-v 75 DOV ©I9UN a, b, ¢ PV 4.11 3N

c-1 2°92) .1 = sa + th-v T2 s,t DNIOP PINYY NN NNNN PON 297 WINO
M Lal (sac + the) 135 .altbe ©Y 2NN 29D alsac *d M2 ¢ = sac+ the DapN
.ale

00N 5V NMNON .4.12 THYV
.e]d nX eln N e|lm-v 73 e M d = (n,m) > .1
(an,am) = |a| (n,m) .2
p|b W pla nN ,plab DN MMWNXI p DX .3

PO NN N eln, m-Y YW .d = sn+tm-Y Td s, t 0P .1 JMDHD HINDD
d DR R sn A+ tm DNOY IR MPN NN D)

(an 990 pon) .2

PV DR 9290 .sa+tp = 1-v 7 s,t 0P 199 (p,a) = 1 X ,pta ON .3

J(plab »n) SNRY PR DX PONN p 2> NI .sab+ tpb = b YApN b-2 PINND
p|b M9 P PN NN PONN p 19

O

TINIOD RO DN 1, M DNIOY D900 MY NN (N’32D) 4.13 NN
nrno NI 0oV (least common multiple ;n"1n>)

lem(n,m) = min{d € N|n|d A m|d}
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n,m]|a ¥ ,n|a oM m|a OX .1
[6,4](6,4) =12-2=24 =64 5vn> .[n,m|(n,m) = |nm| .2

Sv "N d o D900 NN INYO NN PTHIND AWON L(NaY) 4.15 NYNRY
$1M1 + DMYPNN Sq, ..., S, DMOY D900 DIPPY ININ N, ..., N, DIONN
KOy oSpIIN ) 4 spn = d

.333333 HS¥ NNINNN NI90N NN INYD .4.16 9990

25 0w N (mod 10) N0 N 199010 YW ININKD NI90N ,TPNIVYN DOV WM
195 333333 = 3333 . 111333 »5

111=1 (mod 10) = 111**¥* =1%* =1 (mod 10)
333 — 3483+l — (31 .3 - 81%.3=1%.3 (mod 10)
33378 = 3% . 111 =3 (mod 10)

3 NN NININKRD NI9DNY NI

I PN X OVOY a,b € Z D7 R BN 1, m BR (00N NPINYD VAVYN) 4.17 VOV
3 2 =0 (mod m) & = a (mod n)-v I nm AN MPPY D

PN T sn+tm = 1-v 73 5,1 € Z 00»p AR ,(n,m) = 1-v 2910 /W
DYPIM .bsn + atm-2 INAN) VOYNIA WD T SV DR

bsn+atm=atm=a-1=a (mod n)
bsn+atm=bsn=b-1=b (mod m)

N k€ Z 939 &' = x+ kmn D) D MI2 DIVAN INS XN = = bsn + atm 19N
PN PN
v (a,b) M 935 2NVLYIAMP PYVI YHNYI nm INTID T DY M MININD >TD
WTIMN) (a,b) ©NY MM nm 3"ND2 DIV .M DTN IO DRI (TAX MNY) =
VNN TPNPND NN NN DIRNNN (M I2ITIN) -5 DPIVIN DI nm P 1) (nm
D»P ON :NINK TIT DY D) NN DNRNNN 199 ,INNY Y NP0 MNP P2
2 92y (n,m) = 1 MM .mjz —y 0N n|z — y IN ,MYON NN DYPRN Y 190N
O (Lp, X Ly = Loy, ©3 IR TONNI) .z =y (mod nm) 99 nmlx —y

DT =2 (mod5) onx =1 (mod 3)-v 70 z € Z NKy0) .4.18 NNt
Ss=—Lt=2n=5m=3mnpna .—1-5+2-3=1199,05,3)=1
OPPIM PR .z =1-(=5)+2-6 =7 DX MNAY VAN *»DN NPIRYN LIVYN 299
7=2 (mod 5) om 7=1 (mod 3)

oV MNNVYN NDIYNO DY N0 MN OO0 ANy NIN YD NYIRYD VAVN
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MY T DND DYV BDNODY D3P {1, ..., Mg} KON ()2 ¥ OR) 4.19 VOUD
MYV DD NN .7-3 D79V AR VD) (N KID DBIIPI BDNODY N 7D WD)
DD M AN O WIRY Y {a; (modm;) 1 < i <k} nmRe v

PHIRNYOD NOIWHT? ZWINO

8
Il

a; (mod my)

r=ar (mod my)

y=3ony =2 (modb),y =1 (mod 3)-v-v 75 y € Z NxMI .4.20 NN
N9DIN TD XTD NI NI INTIPN MINTA W y = 7 PNV 25 0wy .(mod 7)
MXNWNN NV DR 192 (15 =0 (mod 5) o0 15 =0 (mod 3) »3) 3-5 =15 Yv
Yy =7 (mod 15) nnN AXNWNL 9o\ y = 2 (mod 5) ,y = 1 (mod 3)
MY NDNA PPON NPIRYN LIAVYNI WHNWND IWaN 199 (15,7) = 1 >0 25 oW

QN9 MM y = 52 0 IPTA MINNYN

129Y NNONMY A9NINR NNan S

Sa,n) =1 OX P ON (1990 Pan NINY IMDD) a € U, nNX ,a € Z, o7 .5.1 WV
U, ={1<a<n|(a,n) =1}y

DI9NN NN NINND TIT 1Y W Mn INY

MDD sa = 1 92P) n TN VYN DX .sa + tn = 1-¥ T2 5,1 DNIPPY IPNI
2"NNN SY PPN DONRNNN OTPNN NN 2NN WD Z,-1 a” ! = s5-v

6lzr =1 (mod 234)-v 75 0 < = € Z NS0 5.2 9990

INYD PN NN 1 N 6l + 234k = 1-v 0 k€ Z ©»p NN 280 WO
195 .(234,61) = 1 >3 13520p NN oK 29Y 23441 61 YW (Mt NIPNA OPN)
29N 295 DAY INYD NN NNNN PPN DY VAVYNN Y ONTPNPN ON ko
YIOVIPN 0D NVIANY T r = —23 (mod 234) 195 .1 = 6234 —23-61 oMp

=211 902

JG| :p219m DMAN DIVRD I9DN NIN DNIN W NTID 5.3 191N
N2y =n || Z] = 0o NN

p(n) = |Uy] 299 DT MR ISP 5.4 Nt
(MX¥IN2) MNINY 1) .o(p) = p — 1-¥ DYTP 72D PNIR PNURI p NAY
W (a,b) = 1 o 39 w0 ,o(p*) = pF — p*1 pyav k 995 p mwxa 905 0o
<p(ab) = p(a)p(b)
1 1
p(n)=n (1 — —) e <1 - —) N = plt - pdr o 995NN NOAPIN NN

P1 DPn
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@(60):60(1—%) (1—%) (1—%):16

NYYPN MMAN 6

N AN PN NN G-2 YR YD OXR .a € G o nan G oonn L6.1 910
SIS N3N G D NN T NIPNA La YD Y MY G-V IMNI N a DY (10DOv
G ={a) ={d": keZ} o

6.2 PONT
NP NN —1 ) Svnd TN NnD 2N RO NPIY 20 yvw L1y N Z .1
nZ = (n) .2

Zg = (1) = (5) .

w

»

U ={3,32=9,3=7,3=1} = (3) .

TINY YTNRN DD DX DD IMI NOV ATON N ,TPOPN 172N 72I109”2 1NNNND ON
POy

29 W Zp <5 W TDONORIR VI DN3N 7D .6.3 VoY
N2 =7 .6.4 0Nt
U0 2 Zy 6.5 e

270N NN NMANY NN PN DAN

N DY 910 6.1

NO ON .0(a) = min{n € N:a" =1} N a 9 VIOD ,a € G o .6.6 NN
NOPN NI ITONY NI D O”P

6.7 N
0(5) =2 ,Usg nMana .1

» o(b) = 3-v M b= (% 1) NN (GLy(R), ) nana .2

0 1 -1 -1 10
bl:(_l _1>7£IQ> b2:( 1 0)7&]—27 63:(0 1>:I2

0(a)|n o PN OR @™ = e OPPIN .a € G >0 ,nNan G NN 6.8 THYV
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Jo(g),0(h)] M (g,h) 728 YV 9700’0 N5 ,G X H nMan NN .6.9 NYNY
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